
namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Aritmetik för exponenter (negativa exponenter)

10 + (−7) =(−2) 1 − 7 =2

4 + 6 =(−1) 6 + 10 =2

(−4) + (−7) =(−2) (−8) − 8 =(−1)

6 + 3 =(−2) 2 + 9 =2

(−4) − 10 =2 4 − 5 =(−1)

(−10) + 7 =2 7 − 5 =2

(−6) + (−10) =(−1) 7 − 7 =(−1)

9 − 7 =(−1) 7 + (−6) =0

(−5) + (−1) =2 (−1) − 1 =2

10 + (−9) =(−2) (−2) + (−6) =

www.snowmath.com

https://www.snowmath.com


namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Aritmetik för exponenter (negativa exponenter)

10 + (−7) = (− ) = (−6 )(−2)

100
699

100
99

1 − 7 = (−6)2

4 + 6 = = 6(−1)

4
25

4
1

6 + 10 = 462

(−4) + (−7) = (− ) = (−6 )(−2)

16
111

16
15

(−8) − 8 = (− ) = (−8 )(−1)

8
65

8
1

6 + 3 = = 3(−2)

36
109

36
1

2 + 9 = 132

(−4) − 10 = 62 4 − 5 = (− ) = (−4 )(−1)

4
19

4
3

(−10) + 7 = 1072 7 − 5 = 442

(−6) + (−10) = (− ) = (−10 )(−1)

6
61

6
1

7 − 7 = (− ) = (−6 )(−1)

7
48

7
6

9 − 7 = (− ) = (−6 )(−1)

9
62

9
8

7 + (−6) = (−5)0

(−5) + (−1) = 242 (−1) − 1 = 02

10 + (−9) = (− ) = (−8 )(−2)

100
899

100
99

(−2) + (−6) = (−8)
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